Purpose:
· To find the acceleration of a falling object from a given height.

Equipment

· Coffee filter.
· Computer that doubles as stopwatch.
· Pencil and paper to record data.
Procedure

· Coffee filter dropped from two different heights measured.
· Time is taken with how fast the coffee filter falls to the ground.
· The height the coffee filter was dropped is divided by the time it took to hit the ground and that is the acceleration of the filter.
Data

· The acceleration was zero and the coffee filter fell at a constant velocity with a position value increasing in a linear pattern.
· The time it took for the coffee filter to hit the ground after 537.95 cm is 6.825 seconds.
· The time it took for the coffee filter to hit the ground after 192.5 cm is 3.124 seconds.

· The time it took for the coffee filter to hit the ground after 324.8 cm is 3.246 seconds.

· That would mean that those are the data points.
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Conclusion

· There is no acceleration for the coffee filter hit terminal velocity as it was released.

· The coffee filter fell with a constant velocity of 80.14 cm/s.

· Possible error could be wind resistance and human error (not hitting the start and stop button at the right time on the stop watch.)
